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— ~ {a[EEESNEE LT (motor unit) (5%)EREEH/{E B S8 H73SeaE d » EEEN  AlATIREREEE  8{LE
A= PRIE S (20%) (A B S{EEERE) -

T EETRLEREEAEEAE » sXIE cross-bridge mechanism (15%) 0 W3
S BB PR S5 BT el e Rl (R (10%) -

—E e/l A4 (sarcoplasmic reticulum AL
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U~ DUTF 207 42 FRYEM: » SBERE ~ KB SEENEE 50%1RM AETISEN SR INGERFIT A IR 80E - 5
FEAEHEEREYE 2 MAP (mean arterial pressure}, PP {pulse pressure), TPR (total peripheral resistance) EA RPP (rate
of presure product) (8%) § SEE— 43 BIEEEE SOXARM 41 70%1RM FRUUTEN S EIKEE4TETIE (HR, SBP, DBP, Q) 2
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HR{bpm) SBP{mmHg) DBP{mmHg) Q{L/min)
Rest 80 134 86 6
Maximal aerobic exercise 180 200 88 15
50%1RM lIsometric exercise 135 210 100 8
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